10

(a) mode="plain"
non-spin-polarized

(b) mode="plain"
spin-polarized

(b) mode="parametric"
orbitals=[4,5,6,7,8]

spin-polarized

//

-2 0 2
Energy - Ef (eV)

(e) mode="stack_species"
spin-polarized

10

-2 0 2
Energy - Er (eV)

(e) mode="overlay_species"
spin-polarized

-4 -2 0 2

Energy - Ef (eV)

0 2 4
Energy - Ef (eV)

(f) mode="stack_orbitals"

spin-polarized

0 2
Energy - Er (eV)

-4 -2 0 2
Energy - E (eV)

(f) mode="overlay_orbitals"

spin-polarized
10

o)

-4 -2 0 2
Energy - Ef (eV)

DOS

10

w

-15

5U01323(01d [BIIGUQ 10N

(d) mode="parametric_line"
orbitals=[4,5,6,7,8]
spin-polarized

(‘%o
|
/

|
v

|
—
o

I
—
v

suodafold 1e3quQ WOy

-4 = 0 2 4
Energy - Ef (eV)

(g) mode="stack"
spin-polarized

-2 0 2 4
Energy - Er (eV)

(g) mode="overlay"
spin-polarized

-2 0 2 4
Energy - Ef (eV)



